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1 g v — (i ¥ viii) (8x1=8)
Multiple Choice Questions - (i ¥ viii)
() THIT P SIgorE & —

@) feim @ I @) framm @ H
ST unit of Mass is -
(@ Milligram (b) Gram (¢) Kilogram ) Mole
(i) WRAIY HHG 24 qTel T I GEAET — -
@ a @ Fe @ Cr (@ As
Identify an element which atomic number is 24 -
@ d (b) Fe () Cr (d) As
(iii) WEH B WA e A2
@) . o @ TR (@) Jefw ® e
Who discover the Proton? '
(@) J.J. Thomson (b) Goldstein (c) Chadwick (d) Max Born
(iv) R mad ¥ fHay o ¥
@) 8 @ 3 @ 3 @ 18
How many elements are there in the third period?
(@ 8 (b) 32 © 3 (d) 18
V) Wmﬁﬁﬁwmmmﬂ$mﬁmﬁmmwﬁmﬁ?
@) PCl @ H.S (@) NH; (@  XeF,
Which of the following molecule deviates from octet rule with respect to central atom?
(@ PCh (b) H.S () NH, (d)  XeF,

(vi) ¥ 3 BT IER CO, D WHF 27

@) H0 @) BeF, | SO, @ CH, EI E
The shape of CO, molecule is similar to - E]

-(a) H,0 (b) BeF, () SO, : (d  CH,

S
~d
% dodd
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(vii) 4= ¥ Y P @R Bad e 87

@) orRe w0 @) @ (@) ga S @ wered
Which of the following is not a State Function? .
(@) Internal energy (b) Work (c)  Free energy (d) Enthalpy E E
(viii) o= arfaferar & Hyg + Lo = 2Hlg Kpd Kc & a1 81 - E
@) Kp=Kc @ Ke>Ke () Ke>Kc @ KezKc
Value of K, and K. in the following reaction Hyg + In = 2HIy,
(@ Ke=Kc () Kc>Ke () Ke>Kc (d)  Ke#Kc
2 e o @ o - axt=a)
Fill in the blanks —
G) SFed ' HHROT BT 2
SF6 has....ooovvinninieninennisinnens hybridization.
(i) FECH G n=4,1=2 A BHD oo BT |
Quantum numbern = 4,1 = 2 corresponds to ..............coeennennn. orbital.
(i) N T 3 Y] RS WAV FHIG A 8 qT SIAM GEIT - 8 99
The atom of an element having same atomic number but different mass number are
called..........
(iv) SEH WA ¥ Aq BT AF BIT 21
The value of Aq is......c..cceoeeeveneeecenencine....in Adiabatic Process.
3 3o dgERee 9 — (8x1=8)

Very Short Answer Type Questions —
(i) 16 gm3ffedoH o] # o A &R
How many moles are there in 16 gram of Oxygen molecules?
(i) omact R ¥ e A @ Fonew d<9 AT 87
The most electronegative element in the periodic table.
(i) faeEs B ARG B gRATRT ST |
Define molarity of a solution.
(v) 3K¥ goleeta, Mo 7 i @ we fafa
Find the number of Electron, Proton and Neutron in 3JK.
(v) T & v ¥ Ryar 7 uig ey $ G sasd |
How many Sigma and Pi bond in ethene molecule?
(vi) emEIRa ? goE forfay |
Write the unit of Heat Capacity. )
(vii) A e & Tl B QRIS BT AW faper sran 87
What is the value of enthalpy of elements in standard state?
(viii) NaCN (Gifeaw wrags) &1 welty RAaas frg wpfa &1 8 8? E%%l
=]

What is the nature of aqueous solution of NaCN?
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Short Answer Type Questions —
4gm WA FTEFTEES B Wi S00ml Ricra a=rar | et B Aerar 51 a1 |
A solution is prepared by dissolving 4gm of sodium hydroxide to give 500m! of it. Calculate the
molarity of the solution.
R e S — (=143 m]
Define the Law of Multiple Proportion. E
= It At B B e w9 fafag -

AI*  F-, 0%, Na*, Mg, N*-
Write the radius of the following ions in decreasing order -
Al*, F-, 0%, Na*, Mgz’*, N3-
H, 37 &1 IR 81 & W4 He, @1 afaed 181 2rar 2| @
Why molecules of H» is exist while He, does not exist?
HR U feuee omae 8 s & e
Alkali metals does not form dipositive ions, why?
e o, org smey ¥ worge wr §) wwEE |
Sigma bond is stronger than Pi bond. Explain. .
frelt a1 gT=1 701 ) Fo P SraeieeT R ST & @ O BT 3941 B R @ &
THH BT IaRe Fort IRade s S|

In a process 701 J of heat is absorbed by a system and 394 J of work is done by the system. What is
the change in internal energy for the process? ‘

S 7 ST At @) uRefve A
Define Exothermic and Endothermic reaction.

Ke 9 Kc % w1 foRag |

Write relation between Kp and Kc. -

AR faera 59 Pea €7 1o Seme €|
What is Buffer Solution? Give an example.

A SIS g

(3%2=¢)
Long Answer Type Questions —

() BvS @ fE9 | o9 41 wHI €7
What do you understand by Hund’s rule?

(i) ETFoFET @1 sfAfREaar figra fafay )
Write Heisenberg’s Uncertainty Principle.

IRF ¥ IRRrEw N AEA T B AF e B & i (=135 =]
Why the ioﬁ%zation enthalpy of Beryllium is higher than that of Boron? E
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w16 v & wyel el @ 9@ fafag -

NH; , HS-, HSO4~, H,O

Give the formula of the Conjugate Acids of the following — _ E E
NH; , HS-, HSO4~, H,O
e w — E (3x3=9)
Essay Type Questions —
g47 G f6Y e &7 NH; o] & HHTOT Bl G | (1+2=3)
What is Hybridization? Describe hybridization in NHs molecule.
gdar/OR
FEEIoH ey Y BEd & THD TERI P GHIEd | (142=3)
What is called Hydrogen Bond? Explain its types.
gi8 () SR &1 weM frm g sue aftnha e fora | (1+1+1=3)
Write First Law of Thermodynamics and its mathematical equation. -
Giy &9 @ fw fafeg)
Write Hess’s Law.
3ydar/OR
G From Y oea & 5@ T Suf B AUR R 796 THRI B T3 | ' (1+1+1=3)
What is System? Illustrate its type on the basis of Matter and Energy.
(i) TEF AN 9 bEd €7
What is called Enthalpy of Combustion?
W9 () I wE R wEd 87 (1+2=3)
Write note on Common Ion Effect.
Gi) 298 K WR IRz wehe P RAOREL 1.1x10-5 mol L-'§ | 39 AU W foRar orwa
AT | ' | |
The solubility of Barium Sulphate at 298 K is 1.1x10~° mol L-!. Calculate the solubility product
of Barium Sulphate at same temperature.
3ar/ OR
() o yaferd & faw faRag | (1+2=3)
Write Le Chatelier’s Principle.
(i) 500K W, Nag+3Hag = 2NHsq JfAfhar @ ford wmmawen Rerie &1 A

6.02x10-2 lit-2 mol-2 & | §9 U U Kp T W19 S0 6 |

At 500 K, the equilibrium constant for the reaction Nag) +3Hz) = 2NHjg is
6.02x10-2 lit-2 mol-2. What is the value of Kp at same temperature?

T —— EliE
=
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